—
QO
=

Transmittance

Residual

CH‘-H 0 fit window

Csz fit window
T

1 (b) 1.01 T
0.951- b 1+ =
09+ b 0.99- =
0.85(- b 0.98- =
8
0.8 b € 0.97- =
8
0.75- 1 E0%er 1
0.7 b § 0.95- =
[
b 0.94- =
Avg. time 05s
Cell pressure 38.3 hPa B 0.93  Avg. time 05s q
Cell temperature  292.4 K Cell pressure 38.3 hPa
CH, 1921.5 ppb - 0.92]-  Cell temperature  292.4 K
HO 1.643 % : CH, 453.1 ppb 5
055 I I I I I I I I I 1 0.91 I I L ® I I I I
2988.8 2988.9 2989 2989.1 2989.2 2989.3 2989.4 2989.5 2989.6 2989.7 2989.9 2989.95 2990 2990.0 2990.1 2990.15  2990.2 2990.25 2990.3
3 Wavenumbers [cm] 3 Wavenumbers [cm™]
5 x10 4 X10
s 20 b
3
ok 1 2 of 1
Q
x oL 4
-5 -4
1 €0,-CO-N,0 fit window
T T
0.951- B
g 09f 1
c
]
£
£0.85 4
7]
c
o
= o8l 4
Avg. time 05s
Cell pressure 38.3 hPa
Cell temperature  292.4 K
0.75+ N,0 341.5 ppb B
co, 395.8 ppm
co 522.1 ppb
0.7 I I I I I I
2227.55 2227.6 2227.65 2227.7 2227.75 2227.8 2227.85 2227.9
9 x10? Wavenumbers [cm™]
s 1r 7
3
2 o WMJ\W —
Q
€ 4 J
-2




